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Table 4 of 1984 Paper Using Pipeline Formulae
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Total Greenhouse Gas Forcing

F 
(W

/m
2 )

←
←
←

Computed from DTSUM (?)
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1.0 x F(CO2=316=>427ppm) = 1.74
1.45 x F(CH4=1413=>2456ppb) = 0.43
1.04 x F(N2O)=295=>329ppb)= 0.13
1.32 x F(other TGs) = 0.48
F(O3 not included in F(CH4)) = 0
F(total) = 2.77

GHG Forcing in 1984/1988 Papers Computed Using New Formulae
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1.0 x F(CO2=315.3=>419.4ppm) = 1.65
1.45 x F(CH4=1239=>1928.5ppb) = 0.45
1.04 x F(N2O=290.8=>337.0ppb) = 0.17
1.32 x F(other TGs) = 0.48
0.45 x F(O3 = 0.12
F(total) = 2.87
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